Math 29
Factoring

Factor the expression completely.

1.

4.

7.

10

13.

16

19.

22.

25.

28.

31.

33.

35.

36.

38.

40.

42.

Ox* —4y? 2. x -1 3. 3x* —10xy +8y?
10x* - 250 5. X —4x*—9x+36 6. 4x’+32
xPy—x"y 8. 3x*—18x-21 9. 4x—8x*—5x
. xt—4x* 45 11. (a+2b)" —25c% 12. a’b—b
8x° +14x° —4x* 14. 45x°y° —5xy° 15. 3x* —11x* +6
C3x =11+ 6x° 17. 9x* —(y+10)° 18. 4a’>—8ab+14b—-Ta
10x° +40x° —50x 20. x°+3x" —10x" 21. x°—4x’ -5
10004’ +27b° 23. x?+4x°-32 24. (3x—11)" +27
(x*-25) %. x-9x: 27. 8% —x

5(x+8)" (9x+2)" —10(x+8)" (9x+2)"

e —6e" +8

26— max 7t 29 200 —3x7—20

11:° (2x+3) —4x(2x+3)° 32.

10x'5 (x—6)" —8x" (x—6)" 34,

5sin’ @—3sin @ 37.
3tan?2x—2tan2x—1 39.
9¢’* —5¢% 41.

30. x 2421241

(2x=7)" (x—8)" +(2x-7)" (x-8)"

372 (4x+3)% + 02 (4x+3)

2
csc’x—3cscx—28

4sin*tcost —cost

2 2 2 2
xe +5xe™ —6e™”



Answers

1.
4.
7.

(3x2—2y)(3x2+2y) 2.
10(x+5)(x-5) 5.
Py (x+1)(x-1) 8.

x—l)(x2+x+1) 3. (3x—4y)(x-2y)
x=4)(x+3)(x=3) 6. 4(x+2)(x’ —2x+4)
3(x=7)(x+1)

9. —x(5x=2)(x+2) OR x(2-5x)(2+x) 10. (x*+5)(x+3)(x=3)

11.
13.

1

17.
19.
21.
23.

W

25.

27

29

31

33.

35.
37.
39.
41.

o

e

(a+2b+5c1°)(a+2b—5c10)

2x* (4x—1)(x+2)

(3x*—2)(x*-3)

(3x7 +y+10)(3x7 = y-10)

10x (2% +5) (x+1)(x—1)
(x3—5)(x+1)(x2—x+1)

(x2 +2)(x4 -2x° +4)(x3 + 2)(x3 —2)
(x+5)7 (x—S)7

Cx 7 (2x1) (402 4 2x+1)
(2a4s)(x-4)

cx(2x+3) (11x* - 8x-12)
2x' (36—6)_4 (x+24)

=5(x+8)" (9x+2)" (18x* +148x+31)
(cscx+4)(cscx—7)
cost(2sinz+1)(2sinz—1)

e (x+6)(x-1)

12.
14.
16.
18.
20.

22

24.

26.

28

30.

32.

34.

36.
38.
40.
42.

b(a—bz)(a2+ab2+b4)

5xy’ (3x+ yz)(3x—y2)
x°(3x-2)(x-3)
(a—2b)(4a-7)
x*(x+5)(x-2)

. (10a +3b)(100a” - 30ab” +9b*)
(3x—8)(9x* - 75x+163)

1

x2(x+3)(x-3)
XA (2x+1) (x—4)
Y (x+1)2

3(2x=7)" (x=8)" (x-5)
X2 (4x+3)4 (x2 +12x+9)

sin@(5sin 6 -3)
(tan2x—1)(3tan2x+1)
e (9€X —5)

(e =4)(e -2



